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int add() {

int x = 2;

int y = 3; song@df 1.cpu_structure % gcc -o test 1_1_add.c

return x + yj; song@df 1.cpu_structure % hexdump test

POOOOOO facf feed O0OOc 0100 COEO OEOO OOO2 OOOO
000010 0010 00O 02e8 OOOO CO8S 0020 OOLCO OOOO
POOOO20 0019 OOOO OP48 DOOO S5F5F 4150 4547 455a
POOOO30 4152 OOCO OCOO OOCOE COEO OEOO OO OEBE
{ ' 00040 O0OOO OORO OEO1 OOOO COAO OEOO COLEO 0L
1int aj POOOO50 0RO OOEO OCOO COOO COERO OO COLEO OB
a = add(); POOOO60 OO0 OOCO OEOO OOEO 019 OEOO OOe8 OOOO
POOBO70 S5 4554 5458 0000 00O OCOO OOEO OO
0OOOO8O O0COO OOEO OGOl OOOO 4000 OEOO COLEO OO
0OOOOI0 OO0 OOEO OCOO OOOO 4000 OEOO COLEO OO
0OOORad OROS5 OOEO OEOS OOOO 0OAR2 OEOO OO 0L
POOOObO S5 6574 7478 0000 OO0 OCOO OOCO OO
POOOOcO ST5Ff 4554 5458 0000 OO0 OCOO OOCO OO
POOOOdO 354 0000 OGOl OOOO OB4c OOOO OOLCO OO
00OO0ed 354 0O0CO0 O0CO2 OCOCOE COEO OO OOEO OO
POOOOFO 0400 8000 OO OCEO OCOE OCOO OEOO OGO
POOO1OO STS5F 6e75 6977 b4b6e 695F b6b6e B06F 00O
POOO110 S5F5Ff 4554 5458 0000 OO0 OCOO COEO OO
0000120 3fal® 0OCO OCO1 OOOO OO6O0 OEOO OOLEO OO

int main()
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1001011 002 2=2x*ty
10101010 a001 store 2
10000000 2000 stop
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Operation Addressl, Address2, Address3




JIA® Register Transfer Language(RTL)
\

[8000] = 100

[8000] = [8000] + 1

R FERBIR X :
a. [2000] = 5

b. [2000] < 6

c. [2000] < [6]
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ADD P, Q, R
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00 Load
01 Store
10 Add
11 Sub
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ADD P, Q. R
10 011 010 001

000

001 123 R

010 710 Q

011 833 P
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MOV A,B
LOAD A,B
STORE A,B
ADD A,B
TEST A
BEQ Z
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